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Instructions : | | |

i) This question paper contains seven questions in all.

iy All questions are compulsory.
It is clearly mentioned as to how many parts of a question are to be

iii)
answered.

iv) Marks aliotted to each question is mentioned against it.
Start from the first question and proceed to the last. Do not waste

v)
your time over a question which you cannot solve.

Write the steps of the solution of all the questions clearly except

vi)
Question Number 1.
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e-questions on bpth sides of the answer-
work is required, use the left page of the
( x ) it. Do not make any solution on this

vii) Write the solution$ of l;k"l
book. If space for rough
answer-book and cross

page. . ’ _
viiij Do not erase the construction lines 1n the questions relating to

construction. Do write steps of the construction in brief.

ix) In solving the questions explain your answer with the help of neat
and correct diagram where necessary. Such solutions without
diagrams will be treated as incomplete and incorrect.

1. it gue Fifsw :
TF @3 § 3T & fAU 91 faeey ik m #, fad @ dad U@ w9 ¢ G faded

BEF IV A IT-gias o fefay -
F) HEN 144 F IRY UAGEUSA § Y UHEUS F AT & 4 @
v 3 i) 4
iii) 5 iv) 6. 1
@) frum gfteo x2 —4=0 W = ¥
i)  +0-2 i)+ 1
i x2 iv) + 9. 1
m fag (-3,5)® yIAT AR
i -3 i) 2
iii) 5 iv) 39 ® $r TE 1
) A ABCH it AB=6J3 ¥, AC= 12 ¥Ht @1 BC = 6 ¥ & @ £B &I "
4
i) 120° i) 90°
iii) 60° iv) 45°. 1
) fax d, fag o = fagat A a1 p ¥ 3@ W HAHA HI0T H A9 &
A P
60"
35
: 0 _ B Q
i) 30°, 45° \ii)  45°, 30°
i) 455 6Q° iv) H ¥ IS A&
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gy Frtfetfign aramen @27 F Sger a1 g
CUlERri| IRERET
1-3 7
35 8
5-7 2
7-9 2
9-11 1
) 1-3 iy 35
i) 5-7 iv) 7-9. |

1. Do all the parts :
Four alternatives of the answer of each part are given, out of which only
one is correct. Pick out the correct alternative and write it in your answer-

book :

a)

b}

d)

AA42601

The sum of exponents of prime factors in prime factorization’ of
number 144 is

i) 3 i) 4

i) S iv) 6. 1
The roots of the quadratic equation x?-4=0are

i) +0-2 i) *1

i) *2 iv) t 4. 1
Distance of the point ( -3, 5 ) from y-axis is

i) -3 i) 2

i) S iv) None of these. 1

In A ABC if AB=6J3 cm, AC = 12 cm and BC = 6 cm, then measure
of ZBis

iy 120° i) 90°
i) 60° iv) 45°. 1
In the figure, the angle of depressions of point O from points A and P
are
A P
60’
45

O 5 0
1) 30°, 45° i) 45° 30°
iii) 45°, 60° iv) none of these. 1
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4
) The modal class of Mcy distribution
Class-interval | Frequency
1-3 7
3-5 8
5-7 2
7-9 2
9-11 1
will be )
1) 1-3 i) 3-5 l
i) S5-7 iv) 7-9.
2. |t @og it -
F) k& fog e & fog o= o wfteon 3xc-
(2k=1) x+{ k-1) y = 2k + 1 &I g & ]
W ABC @ DEF 3 §a&Y fge & & SR LE = 75°, @ «C
i | 1
- cos15°+cos75°
™ fag wifag . 1
sin15°+sin75°
o T 35-55 HT & faed a i 1

2. Do all the parts :
a) For which value of k the following similtaneous equations

3x+y=1and(2k-1) x+ (k-1) y=2k+ 1 have no any solution. 1
b) ABC and DEF are two similar triangles. If ZA = 57° and ZE = 75°, then

find 2C. 1

h cos15°+cos75° ]

t =1.
c) Provetha sinl15°+sin75° !
d) Find class mark of class 35-35. 1

3. mﬁma‘ilﬁﬂq:

F  Yfdere TN & WA @ 272 A9 1032 & 9a9 GHUES Td S| 2
@) k% fFd 9" & I geintor 2x” - k(x -1)=0 F T SR &N 2 2
M FR A(S,-1),B(-3,-2)7T C(-1,8), AABC & T & at ¥ A |/ 91
el TIfeaehT i =TS I hIMT | 5
H) HH AT ST 5cos? 60° +4sec? 30° - tan? 45° + cos2 90° ‘

3. Do allthe parts :
a) Find the highest common factor of 272 and 1032 by using Euclii

Algorithm. 3

b) For which value of k roots of the equation 2x° -k{x-1)=0 will be

equal ? .
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c) IfA(S,-1), B(-3,-2)and C(-1, 8)are vertices of

the lengt‘h of the median passing through vertex A. ABC, then find

d) Find the value of 5cos?60° + 4 sec? 30° - tan” 45° +cos? 9ge :

4. WYt @vg HIC | ’
%) fog &g fs V2 & smfoly gen ? 2
@ 10 8 frewn @t 6 A fewr & date gu difan) w9 99 F aRfe & fae
fog ¥ R 99 W v welt wWifag) welt it orars ot A 2

m fegat A (1, 3) W B (4, 6 ) F oA I WErRETE H 2 ;1 F A |
sl A o fag @1 fleis wa ST 2

T o 4, 3 Gy g, forgw w0 @, s 7 @t aer 3.5 961 €, & @
| PO @ ABE1 AR £POQ = 30°, At BEifdha WM &I e T FIACI 2

4, Do all the parts :
a) Prove that J2 is an irrational number. 2
b) Draw concentric circles of radius 10 cm and radius 6 cm. From any
point on the circumference of bigger circle, draw a tangent on smaller
circle. Measure also the length of tangent. 2
Find the coordinates of a point dividing internally the line segment
joining points A ( 1, 3 ) and B(—4, 6 )in theratio 2 : 1. 2
d) In the figure, two concentric circles Mtlccntre O whose radii are
7 ¢m and 3-S5 cm, have two arcs pQ and AB. If ZPOQ = 30°, find the

area of shaded region. 2

c)
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S. mﬂ‘mﬁl—ﬁ'ﬁq
Jﬁmmﬁﬁﬁmﬁmoﬁgmaﬁ?ﬁmﬁaﬁﬁaﬁ%ﬂﬁﬁﬁﬁl
%aéﬁqﬁ-‘gwwmm HITAT
m;ﬂ%r%a%m 40-44 | 45-49 | 50-54 | 55-59 | 60-64 | 65-69
(fFees o)
Qdl & dE 4 6 16 | 20 | 30 | =4
a
@) Frefafea tes wdemo gm #1 & Fiba
Tx-2y . 8x+7y_ 4
o S T 1S
T  AABC & T8 #ifsw et BC = 6 I, AB = 3 @t 3R ZABC = 45° #I
TH FERY B A'BC’ @) v #ifan frge @ e AABC W I
§ﬂ|ma¥ﬁmﬂqﬁfﬂf‘@ml 4
) Tﬁgmmaﬁﬂﬁmﬁ%waﬁwﬁaﬁwwmmmmm@

5. Do all the parts :

4

The! T AT T HIAT |

In the following table, the production in quintal per hectare of

a)
100 wheat farms of a village is given. Find average production in
quintal per hectare. https://www.upboardonline.com
Production per
hectare 40-44 | 45-49 | 50-54 | 55-59 | 60-64 | 65-69
( in quintals)
No. of farms 4 6 16 20 | 30 24
4
b) Solve the following linear pair of equations :
’?x—Qy: ) 8x+7y=15 A
Xy xy
c¢) Construct AABC in which BC = 6 cm, AB = 3 cm and ZABC = 45°,
Construct a similar triangle A'BC'whose corresponding sides are % of
sides of AABC. Write the steps of construction in brief. 4
d) From a wooden solid cube of side 7 cm a maximum sphere is cut.
Find the volume of wooden scraps. 4
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6. Wt @UE HAC

%) GHE (x2f4}+[(2;__§j=%', x#34 F & e [FET W e HIT |

et Bl T ALY A G F g FXS el Bl | 4
@) Ak @ e ® & T F warw e @ e @ A et w
gfeaT & & o ar divht s o fag Fife 6 9 37 & ST F 0 &
ma A fawfsa s 2 4
T & ufte® N W R AR sl =W A 4 9dt g 8 9l 81
Ul T ¥ SAmn ST § forash 3TYR &1 A 8 Wl B 1 3 S ;i

St 4
u) frAfeifes aawar de #t qiftged 46 & T 1 aRERAT 230 §1 f; AR f,
FT O FTT HifT :
o 3R | 1020 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
S E— 12 30 1, 65 7, 26 18
| 4

6. Do all the parts :

a) Find a quadratic equation by solving equation
2x_ (2x-5)_25
(x—-4) (x-3) 3

using formula. 4

, X#3,4. Find the nature of roots and solve by

b} If a line 1s drawn parallel to one side of a triangle to cut other two

sides at different points, then prove that it divides other two sides in
the same ratio. 4

¢} A metallic sphere has internal and external diameters as 4 cm and

8 cm respectively. It is melted to give the shape of a cone with base
diameter 8 cm. Find its height. 4

d) The median of the following frequency distribution is 46 and total
frequency is 230, Find the values of Sy and f,.

[ Class-interval | 19.20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70.80 |
L Frequency 12 30 fl 65 fg 26 l 18
4
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F) e EURG el 4x-5y+16=0 T 2x+y=6 F AP ST

Ty 5 el o - @ T P & et ke w AW 6
2 5 1 @ 8 8 A 3T ot @1 A B ¥ W a6

W g AT @ I 15 e ¥ AR § o ¥ WeF & qult AR waT &
Wi 1 IFT P 30° AU.NAT F UK FI AT 7 45° 21 fag FIC fH
EF F AR 5 (3+ 43 )R B 6

rgar

Th Yo & Y0V A uF @ F WY 1 I 0 60° ¥ W F 9N F @
& OIS F AT 0T 45° ¥ A T R AR 40 dex &, @ fag Fw e
Yo & FER 20(V3-1) Hex ¥ 6

7. Do all the parts :

a) Solve by drawing graph of linear simultaneous equation:
4x-5y+16=0 and 2x+y=6. Find also the coordinates of the

vertices of a triangle formed by these lines and x-axis. 6
OR

Sum of two numbers is 8 and sum of their reciprocals is 1—85— Find the

numbers. 6
b) The height of a temple is 15 metre. From the top of temple, the angle
of elevation of the top of the building on the opposite. side of the road
is 30° and angle of depression of the foot of the building is 45°. Prove
that the height of the building is 5 (3+ JE‘—,] metre. 6
. OR
From the top of a building, the angle of elevation of the top of a tower
is 60°. From the top of the building, the angle of depression of foot of
the tower is 45°. If the height of the tower is 40 metre, then prove that
the height of the building is 20(v3 -1) metre. 6

—_—
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